Grading Standards
World History 3201 / Histoire mondiale 3231
June 2009

Pre-marking Appraisal

The marking board was generally pleased with the examination. The selected response and
constructed response were considered to be a good sampling of the curriculum outcomes. The
length of the exam was reasonable and required students to analyze information from the
documents and provide their own historical knowledge to support their answers.

Marking Standard and Consistency

An answer key/scoring key was distributed to all markers on the first day of the marking board.
The key was examined, discussed and minor modifications were made. A final key was agreed
upon. Marker reliability and consistency were checked by a random sample of 30 papers that
went through the marking panel. Marks were recorded on a separate sheet of paper. These papers
were then placed back into circulation and corrected again. If there were changes to the marks,
they were discussed with the individual marker. Throughout the marking process there were
statistical analysis and item data compiled to enhance the reliability, ensure consistency of
marking and to identify potential problem areas. Areas of concern were addressed during the first
two days of marking.

Commentary on Responses

Generally, the board felt that many students used the sources. It was apparent, however, that
some students were not fully reading the questions and ignored some sources.

e In many cases questions 55 and 56 were left out by many students.
e When asked to “assess” (as in Questions 53, 54, 56), many students either rewrote the
sources or gave more of a description than an assessment.
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Marking Scales

All questions for Part 11 were

5 point questions:

marked using one of the following scales:

Use of Document: 2%

2% | Superior

2 references with little extension or 1 reference with
considerable extension

1% Limited

1 reference with little extension

0%

Inappropriate or no reference to the document

Use of Own Knowledge: 3%

3% | Superior

3 references with little extension or 2 with adequate extension
or 1 reference with considerable extension

2% | Adequate

2 references with little extension or 1 with adequate extension

1% Limited

1 reference with little extension

0%

Inappropriate or no reference to own knowledge
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10 point questions:

Use of Document: 5%

5% | Superior 2 references with considerable extension — one from each
source
4% | Adequate 4 references with little extension — two from each source or 1

reference with little extension from a source and 1 reference
with considerable extension from a source

3% | Average 1 reference with considerable extension from a source or 3
references with little extension

2% Limited 2 references with little extension — one from each source
1% Minimal 1 reference with little extension from a source
0% Inappropriate or no reference to the document

Use of Knowledge: 5%

5% | Superior 2 references with considerable extension

4% | Adequate 4 references with little extension or 1 reference with little
extension and 1 reference with considerable extension

3% | Average 3 references with little extension or 1 reference with
considerable extension

2% | Limited 2 references with little extension
1% | Minimal 1 reference with little extension from own knowledge
0% Inappropriate or no reference to own knowledge
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Part 11
Total Value 50%

Question 51 (Value 5%)

Based on the source below and your knowledge of history, explain the origins of the First
World War.

Use of Source

This source had several elements that students could use:

e The title is “Chain of Friendship”.

e Serbia is smaller, in the front, and trying to protect itself.

e The next three larger figures/countries are Austria-Hungary, Russia and Germany. They
seem to be stepping in front of the other.

e France and Britain are in the background.

e They each claim “if you hit....”, the other will step in.

Points from the source that a student could reference include:

e System of alliances/chain of friendship was a key factor in outbreak of the First World
War.

e Russia is threatening to protect Serbia from Austria-Hungary.

e Germany is telling Russia that if Russia strikes Austria-Hungary, Germany will do
something in response.

e France and Britain are doing the same.

Use of Knowledge

e The origins of the First World War refer to nationalism, economic rivalry (imperialism),
the arms race and military alliances.

e By 1907 Europe was split into two armed camps. This started under Bismarck of
Germany, who had earlier feared the French desire for revenge after the loss of Alsace-
Lorraine. He wanted to isolate France.

e The main alliances were Britain, France and Russia (the Triple Entente) and Germany,
Austria-Hungary and Italy (the Triple Alliance).

e Alliance systems meant that a dispute between one member of each camp could easily
involve the others, thus a war between two countries involves all six.

e Serbia provided the “spark”; Archduke Ferdinand's assassination by Gavrilo Princip, a
Bosnian Serb.
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Students

e Most students answered this question fairly well overall, and wrote a great deal about the
alliance system as prompted by the source.

e Some did not mention the other causes of the First World War as asked in the stem of the
question.

e Many seemed to have lots of knowledge about the “spark” or the incident that started the
First World War.

e Some students demonstrated good knowledge but rambled, not editing the answer to
address the question.
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Excellent5/5
Example # 1

World History 3201 / Histoire mondiale 3231 Grading Standards — June 2009



Excellent5/5
Example # 2
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Poor1/5
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Histoire mondiale
Excellent5/5
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Histoire mondiale
Very Good 4.5/5
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Question 52 (Value 5%)

Based on the source below and your knowledge of history, explain the impact the Treaty of
Versailles had upon German stability during the post-war period.

Use of Source

The visual shows:

The Treaty of Versailles on the floor or ground.

To the left of the wall or pillar, Germany is portrayed as a small child — alone, naked, and
from the back view, labeled the “Class of 1939”.

To the right, the members of the Big 3 (or Big 4) are standing. Clemenceau is in front,
saying it’s curious that he hears a child weeping.

Points from the source that a student could reference include:

Germany, the child, is weeping because of its treatment due to the clauses of the Treaty
of Versailles authored by the victorious allies pictured. The year 1939 marks the
beginning of The Second World War, with Hitler leading Germany.

The Big Three leaders (Orlando of Italy = Big Four)

Clauses in the treaty that Germans felt were harsh.

Use of Knowledge

Economic Stability:

Economically, the reparations Germany had to pay were excessive. Extra money was
printed, which led to hyper-inflation, and subsequently, economic collapse.

Germany lost ten percent of its land, all overseas colonies, 12.5% of its population, 16%
of its coalfields in the Saar Valley and its iron also.

Germany’s inability to pay reparations led to an occupation of industrial Germany (the
Ruhr) by France and Belgium from 1922 to 1923. This led Germans to further resent the
Allies and the inability of their own Weimar government to stop the Allied occupation.
Germany’s economic situation was relieved in 1924 by the American sponsored Dawe’s
Plan which adjusted reparations payments and provided Germany with loans to help
stabilize their economy. This plan was very successful and from 1924-1929 the economic
situation in Germany was much better.
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With this economic stability came political stability until 1929 when the Dawe’s Plan
eventually failed as it was entirely dependent on the strength of the American economy.
This made Germany the hardest-hit European country during the early stages of the Great
Depression.

Political Stability:

Overall, the unfavorable economic and political terms as dictated by the Big 3 (or Big 4)
infuriated and humiliated many Germans. Hitler later used it to seek revenge as it
provided fertile ground for propaganda against the Allies.

Germany’s army was reduced to 100,000 men; it had no air force and a very small navy.
The hated “War Guilt Clause’ was even more humiliating. Many turned to right-wing
political groups, hence the rise of the Nazis.

Too many political parties in the Reichstag meant that any government in Germany was
unstable. This often left Weimar governments at the mercy of extremist parties like the
National Socialist Party (Nazis).

The Treaty did not bring resolution, but rather encouraged revenge.

Germany was initially not allowed to join the League of Nations.

German violations of the treaty grew bolder until Hitler and the Nazis killed the Treaty in
1933.

Students

Most students discussed the reparations payments and military restrictions placed on
Germany well.

Many simply listed the clauses of the Treaty and did not extend their answers to discuss
the clauses’ effects during the post-war period. These answers were rather descriptive of
the Treaty and did not address the impact of the Treaty.

Some answered the question in relation to the Treaty’s fairness (as in S.C.0. 1.3.4) and
thus did not answer the question being asked.

Many discussed reparations, territorial losses and military restrictions but could not link
these elements to problems in the post-war period.

Most listed the names of the leaders in the picture, however, they did not mention their
significance as the Big 3 or 4.

A few students did not understand the significance of “The Class of 1939”. Some of
these students incorrectly referenced this as the year the Treaty was signed.

Most students did not mention Vittorio Orlando of Italy but still accurately identified the
other leaders.

In Histoire mondiale, many students used the word « répercussions » to mean

« réparations ».
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Excellent5/5
Example # 1
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Excellent5/5
Example # 2
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Good 4/5
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Poor 15/5
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Histoire mondiale
Excellent5/5
Example # 1
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Histoire mondiale
Excellent5/5
Example # 2
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Histoire mondiale
Good 3/5
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Question 53 (Value 10%0)

Based on the sources below and your knowledge of history, assess the impact of Stalin’s
Five Year Plans on the Soviet people.

Source 1

( )
“In order to turn a peasant society into an industrialized country, countless material

and human sacrifices were necessary. The people had to accept this, but it would not
be achieved by enthusiasm alone.... If a few million people had to perish in the process,
history would forgive Comrade Stalin.... The great aim demanded great energy that
could be drawn from a backward people only by great harshness.”

- Anatoli Rvbakov (Representing Stalin’s viewpoint) y

Source: GCSE Modern World History, Ben Walsh. (133)

Source 2

“Yet despite the problems of the early 1930s, collectivization was ultimately a success
at enormous cost to the Soviet people. By 1937 over 90% of peasant farms had been
collectivized and the Kulaks had been destroyed. From 1933 Soviet agricultural
production improved; by 1937 output was significantly higher.”

Source: Russia and the USSR, Nigel Kelly. (34-35)

Use of Source

Source 1

e Sacrifice, both material and human, was necessary to industrialize.
e “ Backward” people needed “harshness”.
o A “few million” people “perished” under Stalin.

Source 2

e “Enormous cost” of collectivization for the Soviet people
e By 1937, kulaks were destroyed.
e By 1937, output was much higher.

*NOTE: This question asks the student to assess, or to examine the validity of the statement,
to make an informed judgment or weigh the merit of two different points of view.

Use of Knowledge

e The Five Year Plans began in 1928. Private enterprise was abolished, private use of land
eliminated, and dictatorial controls were enforced to meet the goals of collectivization.

e Began program to industrialize and modernize the U.S.S.R. (expansion of factories; oil

and electricity; grain and tractors)

Opposed foreign intervention; attempted to strengthen military

Standard of living was allowed to fall and food rationing was introduced.

Production of consumer goods was curtailed.

Soviet agriculture collapsed as kulaks were eliminated.

Famine in 1933. Forced collectivization shattered the Ukraine; 6-7 million dead

Recovered in the late 1930s due to improved technology and strict control
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Enabled investment in industrial development, science, education, and military. There
were more trained and educated professionals

In 12 years, the U.S.S.R. became an industrial power; this was key to its survival when
Hitler invaded in 1941 and for the Second World War in general.

Stalin’s purges — Was the cost of human life worth the industrial development?
Unemployment was almost non-existent. Education was free and compulsory.

Life was very harsh under Stalin. Factory discipline was strict and punishments were
severe.

Conditions on major projects (dams, canals) were appalling. As a result, many died.
Concentration on heavy industry meant that there were few consumer goods (e.g. clothes,
radios) which many people wanted to buy.

*NOTE: The student should conclude with his or her assessment.

Students

Students discussed collectivization, purges, gulags, famine and the N.E.P. very well.
They identified kulaks and their relationship with Stalin’s Five-Year Plans.

Most students who did address the impact noted that the industrial progress was
significant despite the human cost.

Some students poorly referenced the sources and simply rewrote them with little
extension.

Students seemed to have little knowledge about examples of industrial changes in Russia,
such as increases in steel, iron, oil production; power plants; modernization of farms;
education.
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Excellent 10/ 10
Example # 1
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Excellent 10/ 10
Example # 2
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Good 7/10
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Poor 4/10
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Histoire mondiale
Excellent 10/ 10
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Histoire mondiale
Very Good 9/10
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Histoire mondiale
Good 7/10
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Histoire mondiale
Fair 6/10
Example # 1
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Histoire mondiale
Fair 5/10
Example # 2
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Histoire mondiale
Fair 5/10
Example # 3
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Histoire mondiale
Poor 1/10
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Question 54 (Value 10%0)

Based on the sources below and your knowledge of history, assess the effectiveness of
appeasement in containing Nazi aggression.

Source 1

( )

“The central question that the appeasement era... poses for historians was stated by
Winston Churchill when he dubbed the Second World War ‘the Unnecessary War.” For
if the League of Nations members had invoked sanctions... against Japanese, Italian
and German violations of solemn international agreements, Axis aggression would
have been nipped in the bud and a second world war averted.”

Source: The Journal of Modern History, December 1985 (728-730)

Source 2

“The Munich Pact .... was like giving a cannibal a finger in the hope of saving an arm.”

Source: The Complete Guide to World War 11, Mitchell Bard. (58)

Use of Source
Source 1

It refers to Churchill’s criticism of appeasement and the League of Nations’ failure to stop
international aggression.

e The League of Nations was weak and did not use effective sanctions.

e Churchill said the Second World War was unnecessary; it could have been avoided if
Axis aggression had been stopped.

e The League of Nations failed to stop Japan in Manchuria, Italy in Abyssinia, Germany in
the Rhineland, the Sudetenland and then all of Czechoslovakia.

e Churchill as anti-appeasement; Chamberlain as pro-appeasement

Source 2

It refers to the Munich Pact as an analogy of giving a cannibal a finger so that he [Hitler] would
not want the whole arm.

e The Munich Pact gave Hitler the Sudetenland. He would not be satisfied with just one
part of Czechoslovakia; he would want the whole thing (finger-arm analogy).

* NOTE: This question asks the student to assess, i.e. to examine the validity, to make an
informed judgment; weigh the merit of two different points of view. Students could argue the
following sides but must offer his or her assessment. A student could indicate that appeasement
was not effective but may also argue that the reasons for its use were logical and reasonable.

Appeasement was NOT effective because it encouraged Hitler.

- Chamberlain’s critics, such as Churchill, say it simply encouraged Hitler’s gambling.
- If Britain and France had faced Hitler from the start, Hitler would have backed off.
Peace would have been secured.

Appeasement was acceptable/logical/reasonable because Britain was not ready for war.

- Its armed forces were badly equipped and had fallen behind Germany.

- Public opinion in Britain, in important countries in the empire, even in the USA, were
against war.

- It was the only policy available to Chamberlain. To take on Hitler meant that
Chamberlain had to be prepared to take Britain into a war.
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Use of Knowledge

e Germany’s desire to expand (Lebensraum, Pan-Germanism, Treaty of Versailles).
e An explanation of appeasement, why it was practiced but still has to emphasize its

ineffectiveness, i.e.

- War weariness from the First World War, war debt from the First World War

- Inability of countries to fund a military during the Depression

- Greater fear of Communism than Fascism; Fascism seen by some as a possible

solution to Depression
- British guilt over the harshness of the Treaty of Versailles
- Chamberlain’s “it’s all so far away” philosophy, etc.

Students

e Most students knew of the Munich Pact, the weaknesses of the League of Nations, the

concept of appeasement and used this knowledge to explain the second source and
assessed it as ineffective.
e Most students were familiar with the reasons why appeasement was used.

e Many students frequently restated sources rather than expanding on them and did not

seem to know specific examples to explain the first source.

e Some students gave lists of examples of appeasement with no explanations and with only

perfunctory reference to the sources at the end.

e Some students frequently confused the order of events; for example, that the Munich Pact

was the first example of appeasement.

e Some students confused Chamberlain and Churchill; League of Nations with the United

Nations.

e In Histoire mondiale, many students confused the word « empécher » and seemed to
think it meant « encourager ». Others confused « apaisement » with « endiguement ».
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Excellent 10/ 10
Example # 1
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Excellent 10/ 10
Example # 2
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Good 8/10
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Poor 3/10
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Histoire mondiale
Excellent 10/ 10
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Histoire mondiale
Good 85/10
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Histoire mondiale
Poor 2/10
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Question 55 (Value 5%)

Based on the source below and your knowledge of history, explain the circumstances that
led to the Cuban Missile Crisis.

Use of Source

Castro looking out from a tank

a scene from the Bay of Pigs invasion, as mentioned in the caption

Castro’s role in Cuba in the 1950s:

As leader of the “26™ of July movement,” Castro was an early and vocal opponent of the
dictatorship of Batista and thus played a major role in the 1959 Cuban Revolution which
eventually overthrew Batista.

Significance of the 1961 CIA-sponsored Bay of Pigs invasion:

The invasion failed as the Cuban ‘ex-pats’ were quickly defeated on the beaches of Cuba
by Castro’s forces. Those who were not killed in action were taken prisoner by Castro’s
forces. This was a huge embarrassment for Kennedy’s government and only served to
strengthen ties between Castro and the U.S.S.R.

Use of Knowledge

Cuba had been basically controlled by the USA since the Spanish-American War of
1898.

U.S.A. controlled most of Cuba’s wealth; supported the corrupt dictatorship of Fulgencio
Batista.

The popular uprising led by Castro culminated in the removal of Batista from power in
1959. Castro quickly nationalized American industries without compensation. The
U.S.A. responded first with an embargo of sugar, then a general embargo of goods, to and
from Cuba.

Castro turned to the U.S.S.R. for help and protection. The ClA-sponsored Bay of Pigs
invasion (as well as other plots to overthrow Castro) led Castro to declare his revolution
communist. The belief that the U.S.A. would continue its campaign to remove
communism in Cuba leads Castro to seek more Soviet support.

Khrushchev seized the opportunity to provide Cuba, not only with financial and
conventional military support, but also send ballistic missiles to Cuba. This protected
Cuba from further American aggression — but also countered the threat of American
missiles in Turkey.

This results in the naval blockade of Cuba and the display of brinkmanship in that crisis.
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Students

e Most discussed well the Soviet placement of missiles in Cuba and the overthrow of
Batista.

e Some poorly explained the source (the Bay of Pigs Invasion) — many responses were
vague on specifics and made general comments about the Cold War.

e Some referenced Stalin instead of Khrushchev.

e Some could not recognize or make reference to Castro (as mentioned in the source).
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Excellent5/5
Example # 1
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Excellent5/5
Example # 2
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Very Good 4.5/5
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Histoire mondiale
Very Good 4.5 /5
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Histoire mondiale
Good 4/5
Example # 1
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Histoire mondiale
Good 4/5
Example # 2
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Histoire mondiale
Good 35/5
Example # 3
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Histoire mondiale
Good 35/5
Example # 4
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Histoire mondiale
Poor1/5
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Question 56 (Value 5%)

Based on the source below and your knowledge of history, assess the reaction of the Soviet

Union to the policy of containment.

4 N\
"The policy of the Marshall Plan was seen in the Soviet Union as the Americans
wanting to impose their influence over the countries to which they gave Marshall Plan
Aid. The Soviet Union could not accept that, believing it to be an aggressive act on
behalf of the Americans. That is why the Marshall Plan was never accepted....”

- Dmitri Sukhanov, Soviet Politburo Member
\_ J

Use of Source

e The source refers to Marshall Plan aid being unacceptable to the Soviet Union.
e Concept of containment
e The U.S.S.R. reacted to the Marshall Plan by creating the Molotov Plan.

Use of Knowledge

e The reaction to containment, as exemplified in the Marshall Plan.

e The Americans introduced the Marshall Plan. The Soviet Union reacted with the
Molotov Plan.

e The West formed NATO. The Soviet Union reacted with the formation of the Warsaw
Pact.

e The West planned to establish West Germany. The Soviet Union reacted by launching
the Berlin Blockade, which was followed by the Berlin Airlift.

e Student’s assessment may look at the “success” of the above three aspects.

Students

e Most were able to discuss the Soviet Union’s discontent with the Marshall Plan, as
prompted by the source.

e Few could link the Molotov Plan to the source and the Soviet reaction.

e Some focused on Churchill’s “Iron Curtain” and Stalin’s “hostile camps” speeches.

e Many needlessly discussed in detail how the U.S.A. used containment (i.e. giving
explanations of NATO, the Truman Doctrine, and the Marshall Plan), but did not mention
the Warsaw Pact or the Berlin Blockade.
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Excellent5/5
Example # 1
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Excellent5/5
Example # 2

World History 3201 / Histoire mondiale 3231 Grading Standards — June 2009

71



Very Good 4.5/5
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Fair25/5
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Histoire mondiale
Excellent5/5
Example # 1

World History 3201 / Histoire mondiale 3231 Grading Standards — June 2009

74



Histoire mondiale
Excellent5/5
Example # 2
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Histoire mondiale
Good 35/5
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Histoire mondiale
Fair 3/5
Example # 1
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Histoire mondiale
Fair 3/5
Example # 2
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Question 57 (Value 5%)

Based on the source below and your knowledge of history, explain how terrorist attacks in
the United States and the Middle East since 2001 have threatened world peace and
security.

"Every nation, in every region, now has a decision to make. Either you are with us, or
you are with the terrorists."”

- U.S. President George W. Bush, address to Congress, September 21, 2001.

Use of Source

A quote by U.S. President George W. Bush.
It was said ten days after the 9/11 World Trade Centre attacks.
Every nation and region has to decide if they side with the U.S.A. or with the terrorists.

Points from the source that a student may reference include:

Al-Qaeda attacks on American interests

Suicide bombings in the Middle East

Attacks are related to a belief that American influence in the Islamic world has led to a
secularization of their society as well as governments that are pro-Western.

Use of Knowledge

These attacks have dominated American policy in the post-Cold War world. The attacks

threaten security/peace.

A student can refer to :

- War on Terror (pro-active defense of U.S.A.)

- Invasion of Afghanistan

- Invasion of Iraq

- London bombings of 7 July 2005

- Axis of Evil (Iran, Irag, North Korea)

- Department of Homeland Defense has led to a greater cooperation between American
security agencies (FBI/CIA — increase of military spending since 9/11)

- The rise of Islamic fundamentalism

- Greater security at airports, borders, ports

- Efforts to stop weapons of mass destruction

- Hamas’ efforts to attack Israel

- Avrrise in racism/hatred towards visible minority groups has led to conflict

- Other plausible answers

Students

Most students used the source well, specifically the terrorist attack reference.

Most students were able to identify the source, speaker and background.

Most discussed the increase of airport security but did not focus on other events/ideas.
Some incorrectly referred to the 9/11 hijackers as kamikaze pilots.

There were very few references to suicide bombings in Israel, recent London bombings,
the secularization of the Middle East by the West, the rise of Islamic fundamentalism.
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Example # 1
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Example # 2
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Question 58 (Value 5%)

Based on the source below and your knowledge of history, explain how Nasser’s actions
contributed to the Suez Crisis.

Use of Source

Nasser-angry, uniformed, fist-clenching

Nasser-speaking into an Egypt radio microphone

Nasser-surrounded by torn papers, including “Suez Canal Treaty”, “Anti-West”, “Anti-
British Broadcasts”

Use of Knowledge

To achieve his goals, Nasser needed lots of money, thus he accepted both American and
Soviet aid in the form of cash, military equipment, technical expertise and food.

To industrialize, Nasser needed electricity. He announced plans to expand the Aswan
Dam. By 1956 it seemed he had maneuvered the Soviets into providing arms and the
Americans into supplying technical expertise...but it was about to fall apart. Nasser’s
continued conflict with Israel and his non-aligned nationalism cost him Western support.
On 26 July 1956, Nasser seized control of the Suez Canal — against international and
U.N. agreements. He turned to the U.S.S.R. for help in building the dam.

By nationalizing the Canal, he achieved two goals: it marked the end of Egypt’s colonial
status and provided funds for the building the Aswan Dam and modernizing Egypt.

This crisis increased global tensions, since the military leaders of Britain and France
plotted with Israel to recapture the Suez Canal and bring down Nasser. When Israel
invaded Egypt in October 1956, the world was shocked when France and Britain attacked
too.

The crisis heightened Arab distrust of Israel’s intentions in the Middle East.
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Students

Most students knew when the Canal was built and who built it.

Many students knew about

- Nasser receiving money from the U.S.A. and support from the U.S.S.R.

- Nasser’s nationalization of the canal.

- Nasser’s main goals.

Some students had a poor understanding of

- the relationship between Great Britain and Egypt; between the U.S.A. and Israel
Nasser’s goals and how he planned to achieve them.

- how Nasser’s actions contributed to the Suez Crisis and his role in the crisis.
- Nasser’s relationship in the U.S.A. and the West.

- Nasser’s reputation in the Arab world.

Some students confused the Aswan Dam and the Suez Canal

Some students confused Israel and India.

Some students poorly interpreted the source or simply rewrote it.

Several students referred to “Nasser Arafat”.
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Question 59 (Value 5%)

Based on the source below and your knowledge of history, explain how the partition of
British Palestine led to the Arab-Israeli conflict (1948-1973).

“[After] the War of Independence, as the Israelis called it... the Israeli state had
captured 30 percent more territory than the UN had allotted .... For [the Arabs], 1948
was al-Nakbah, ‘the Disaster’.... The defeat [produced] no heros, only embittered
soldiers...who now sought revenge ...against Israel....”

Source: Six Days of War, Michael Oren, (4-6)

Use of Source

e The source alludes to the 1948-1949 Arab-Israeli War (Israel’s war “of Independence”).
The day Israel became a country it was invaded on all sides by a coalition of Arab
countries (Egypt, Jordan, Syria, Iraq, and Lebanon) outraged by the U.N. decision to
create Israel. Israel won this war and annexed Palestinian territory, expanding the original
size of Israel proposed by UNSCOP some 30%. This created a large humanitarian crisis
as Israel expelled over 700,000 Palestinians living in their new territory. This mass
exodus of Palestinians and its ensuing crisis are remembered by many Arabs as "al-
Nakbah™ (or ‘the disaster’ in English).

Use of Knowledge

* The Suez Crisis of 1956: In July 1956, the U.S.A. was angry because Nasser, leader of Egypt,
had purchased arms from Czechoslovakia; therefore, they suddenly withdrew the Aswan Dam
loan offer in an attempt to punish him. Nasser responded by nationalizing the Suez Canal
Company on July 26, 1956, hoping to use its profits to pay for the dam. In October 1956, Israel
(with French and British support) invaded Egypt. Britain and France attacked Egypt to gain back
control of the Canal, but international pressure forced them to withdraw. This event heightened
the distrust between Arabs and Israelis.

* The Six-Day War of 1967: A third Arab-Israeli war broke out on June 5, and lasted only six
days. Egyptian President Gamal Abdel Nasser vowed to avenge Arab losses and press the cause
of Palestinian nationalism. To this end, he organized an alliance of Arab states surrounding Israel
and mobilized for war. Israel pre-empted the invasion with its own attack on 5 June 1967. In the
following days, Israel drove Arab armies from the Sinai Peninsula, Gaza Strip, West Bank, and
Golan Heights, all of which it then occupied. Israel also reunited Jerusalem, the eastern half of
which Jordan had controlled since the 1948-1949 War. The Six Day War was viewed as an
enormous victory for Israel, but the territories it gained did not stop future fighting. In six days,
Israel had gained more land than it had before 1949, but many Arabs felt anger and resentment
which did not foster peace in the Middle East, and only heightened tension in the conflict
between Arabs and Israelis.

* The Yom Kippur War of 1973: The Yom Kippur War was fought from 6 October to 26
October 1973 by a coalition of Arab states led by Egypt and Syria against Israel. The war began
with a surprise joint attack by Egypt and Syria on the Jewish holiday of Yom Kippur. Egypt and
Syria crossed the cease-fire lines in the Sinai and Golan Heights, respectively, which had been
captured by Israel in 1967 during the Six-Day War. The war had far-reaching implications for
many nations. The Arab world, which had been humiliated by the lopsided defeat of the
Egyptian-Syrian-Jordanian alliance during the Six Day War, felt psychologically vindicated by
its string of victories early in the conflict.
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Students

e Many did not mention the four Arab-Israeli wars at all, or merely listed them without
describing how each war contributed to the Arab-Israeli conflict.

e Some students incorrectly stated the source referred to the 1967 Six Day War. This was
likely due to the origin of the source entitled “Six Days of War” by Michael Oren.

e Some discussed attempts at peace (S.C.O. 5.2.4), but did not answer the question being
asked.

e Some students spent too much time on the ancient history of the region.

e Some students seemed to have little knowledge about the four wars between the
Palestinian-Arab world and the Israelis (Suez Crisis, Six Day War, Yom Kippur War,
1948-1949 Arab-Israeli War)

e Some discussed the Intifadas and Hamas attacks against Israel, however while
contributing to the Arab-Israeli conflict, they fall outside the date range given in the
question since they happened after 1973.
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Poor 1/ 5
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Table 1

World History 3201

Item Analysis

Multiple Choice (Part )

Responses
Item Answer A B C D
% % % %
1 A 86.6 2.4 2.9 8.1
2 D 35.7 4.4 14 58.3
3 C 2.0 24.6 70.4 3.0
4 C 3.9 3.7 86.2 6.3
5 B 15.4 77.2 2.0 5.4
6 A 65.4 9.8 11.0 13.7
7 D 9.4 0.9 4.4 85.2
8 B 2.7 74.5 20.7 2.1
9 B 1.0 97.6 1.3 0.2
10 A 82.8 6.3 7.8 3.1
11 D 3.1 1.6 1.6 03.8
12 B 0.9 89.4 0.7 8.9
13 D 9.3 15 0.5 88.6
14 B 8.7 72.7 14.1 4.5
15 D 11.0 32.5 10.6 46.0
16 A 50.7 11.4 114 26.4
17 D 14.5 8.9 14.7 61.5
18 B 3.1 89.1 5.9 1.9
19 B 22.2 61.1 12.2 4.4
20 C 15 19.3 78.2 1.0
21 C 10.7 14.1 68.6 6.7
22 C 12.7 4.9 81.9 0.5
23 A 85.5 4.5 6.5 3.4
24 D 8.4 18.8 4.0 68.7
25 D 22.6 2.4 10.1 64.8
26 D 8.5 6.0 3.1 82.2
27 D 4.2 1.2 2.5 92.0
28 B 28.9 60.6 0.6 9.8
29 A 82.1 9.4 6.5 1.9
30 D 7.6 3.6 2.0 86.9
31 B 5.6 88.3 3.1 2.9
32 C 6.5 6.9 82.0 4.5
33 D 4.6 1.8 4.9 88.7
34 B 6.3 65.8 1.8 25.9
35 A 93.6 4.1 1.7 0.6
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Table 1

World History 3201
Item Analysis (Continued)
Multiple Choice (Part )

Responses
Item Answer A B C D
% % % %
36 A 62.9 13.1 4.4 19.6
37 D 39.0 1.6 2.7 56.7
38 B 13.7 42.2 27.8 16.3
39 B 4.7 89.5 54 0.3
40 A 83.6 8.7 6.5 1.2
41 C 10.0 7.6 7.7 4.2
42 A 94.8 1.1 15 2.7
43 D 10.8 3.2 5.2 80.8
44 B 5.2 83.3 0.4 11.1
45 D 21.1 4.8 20.3 53.6
46 C 7.5 8.1 79.4 4.7
a7 C 1.7 3.1 89.7 5.5
48 B 2.0 96.0 1.2 0.7
*49 D 4.3 7.0 8.5 79.8
*50 C 8.3 8.3 79.8 3.4
Note:; Percentages may not add to 100% due to multiple responses, missing values, or rounding.
* Students completed either question 49 or 50, depending on the unit studied.
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Table 2

World History 3201
Item Analysis
Constructed Response (Part I1)

Item Nwlozs 01.: Students Value Average
Completing Item

51 1279 5 3.0
52 1279 5 2.8
53 1279 10 5.3
54 1279 10 5.1
55 1279 5 2.2
56 1279 5 2.1
S7 1279 5 2.3
*58 943 5 1.9
*59 336 5 2.2

Note: Percentages may not add to 100% due to multiple responses, missing values, or rounding.
* Students completed either question 58 or 59, depending on the unit studied.
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Questions a choix multiple (Partie I)

Table 3

Histoire mondiale 3231
L’analyse des items

Bonne Siat:
Item réponse A B C D
% % % %
1 A 92.6 1.9 0.3 5.2
2 D 19.5 4.4 1.1 74.7
3 C 1.1 17.9 79.7 1.4
4 C 11 0.3 94.8 3.9
5 B 16.8 76.4 1.7 5.0
6 A 76.4 7.1 7.1 9.3
7 D 4.7 14 1.7 92.3
8 B 2.5 85.2 11.0 1.4
9 B 4.4 86.0 9.1 0.6
10 A 89.3 3.6 6.0 1.1
11 D 7.1 6.0 6.3 80.5
12 B 2.2 90.7 0.3 6.9
13 D 2.8 0.8 0.6 95.9
14 B 4.7 79.4 12.6 3.3
15 D 7.7 25.0 7.7 59.6
16 A 53.0 5.8 5.2 36.0
17 D 9.6 5.2 29.4 55.8
18 B 0.3 97.0 2.2 0.6
19 B 14.0 75.3 8.0 2.8
20 CorD 0.6 18.4 71.7 9.3
21 C 12.4 9.1 74.7 3.9
22 C 11.3 2.8 85.4 0.6
23 A 89.3 5.5 1.9 3.3
24 D 5.5 16.8 1.7 76.1
25 D 22.5 0.3 10.2 67.0
26 D 14.6 3.3 3.9 78
27 D 2.2 0.3 2.8 94.8
28 B 19.5 76.7 0.3 3.3
29 A 86.3 8.2 4.4 1.1
30 D 2.5 3.9 2.2 91.2
31 B 23.1 72 1.9 3.0
32 C 4.1 55 86.3 4.1
33 D 2.5 1.9 2.5 93.1
34 B 5.5 77.5 14 15.4
35 A 97.3 14 14 0.0
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L’analyse des items (continuée)
Questions a choix multiple (Partie I)

Table 3

Histoire mondiale 3231

Bonne C el

ltem réponse A B C D

% % % %
36 A 76.7 8.0 2.8 12.4
37 D 38.2 0.3 2.2 59.3
38 B 13.7 48.9 22.3 15.1
39 B 19.2 67.3 12.9 0.6
40 A 83.8 8.5 6.0 1.7
41 C 14.8 11.3 69.0 5.0
42 A 94.0 1.7 3.6 0.8
43 D 6.9 2.2 1.7 89.3
44 B 5.8 75.8 2.5 15.9
45 D 10.4 4.1 50.8 34.6
46 C 4.1 7.4 84.9 3.6
47 C 1.9 2.5 89.0 6.6
48 B 2.2 95.1 0.6 2.2
*49 D 1.7 9.9 8.2 80.0
*50 C 8.8 8.8 73.6 8.5

N.B. : Les pourcentages ne s’élévent forcément pas a 100 % en raison des réponses multiples, des valeurs absentes

ou de I’arrondissement.

* Les éleves ont complété soit la question 49 ou la 50, en fonction de ce qui a été étudié en classe.
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Table 4
Histoire mondiale 3231
L’analyse des items
Questions a développement (Partie 1)

Ne d’éléves qui ont

Item complété I‘}i tem Valeur Moyenne
51 364 5 3.2
52 364 5 2.9
53 364 10 5.2
54 364 10 5.0
55 364 5 2.5
56 364 5 2.1
57 364 5 2.5
*58 211 5 2.4
*59 153 5 2.0

N.B. : Les pourcentages ne s’élévent forcément pas a 100 % en raison des réponses multiples, des valeurs absentes
ou de I’arrondissement.
* Les éleves ont complété soit la question 58 ou la 59, en fonction de ce qui a été étudié en classe.
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